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14) gmd©O{ZH$ IM©

1) 2023-24 À¶m AW©g§H$ënmZwgma, gaH$maH$Sy>Z IMm©Mr H$‘mb Q> o̧$dmar ...... ¶m Jmoï>tgmR>r Agob.
1) g§ajU ~iH$Q> H$aUo 2) H|$Ð nwañH¥$V ¶moOZm
3) ì¶mOmMm ^aUm 4) AZwXmZ

1) According to the budget 2023-24, the maximum percentage of expenditure to be made by the

government will be for :

1) defence strengthening 2) centrally sponsored schemes

3) interest payment 4) subsidisation

2) df© 2021-22 ‘Ü¶o EHy$U Cn^moJ 7% Zo dmT>oc Agm A§XmO Amho H$maU,
1) gaH$maZo IMm©V -Ho$cocr ^ard ¶moJXmZo
2) H$moamoZm ‘hm‘marnyd© H$mcmnojm ñWyyc pñWa ^m§S>dc {Z{‘©Vr A{YH$
3) dñVy Am{U godm {Z¶m©V 2021-22 ‘Ü¶o AndmXmË‘H$[aË¶m à~i
4) darc gd©

2) Total consumption is estimated to grow by 7 per cent in 2021-22 because of

1) Significant contributions from government spending

2) Gross Fixed Capital Formation exceeded pre-pandemic levels

3) Exports of both goods and services have been exceptionally strong

4) All the above

3) ^maVmMm gmd©O{ZH$ IM© dmT>Ê¶mMr ¶mn¡H$s à‘wI H$maUo H$moUVr?
A) àemgH$s¶ ¶§ÌUoMm {dñVma ~) amï´>r¶ CËnÞmVrb dmT>
H$) bmoH$g§»¶m dmT> S>) qH$‘V nmVirVrb dmT>
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ H$ 3) H$ Am{U S> 4) darbn¡H$s gd©

3) Which of these are the main reasons for increasing public expenditure in India ?

a) Extension of administrative mechanism b) Increase in national income

c) Population growth d) Increase in price level.

Answer Options :

1) Only a 2) Only c 3) c and d 4) All of the above

4) AmYþ{ZH$ AW©VÁkm§À¶m ‘Vo ''gmd©O{ZH$ H$Om©Mm ^ma ...... da nS>Vmo.''
1) gÜ¶mMr {nT>r 2) n{hbr {nT>r 3) ^mdr {nT>r 4) ¶mn¡H$s Zmhr

4) According to modern economists “The burden of public debt lies on ......"

1) Present generation 2) Past generation

3) Future generation 4) None of these

5) {nH$m°H$ Am{U dmB©O‘Z ¶m§Zr gm§{JVboë¶m gmd©O{ZH$ IMm©À¶m dmT>rMo A§{V‘ n[aUm‘ H$m¶ AmhoV?
A) {dñWmnZ n[aUm‘ ~) gImob Am{U é§XrH$aU n[aUm‘
H$) VnmgUr n[aUm‘ S>) H|$ÐrH$aU n[aUm‘
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) A, H$ Am{U S> 3) ~, H$ Am{U S> 4) darbn¡H$s gd©
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5) What are the resulting effects of growth of public expenditure stated by Peacock and Wiseman ?

a) Displacement effect b) Deepening and widening effect

c) Inspection effect d) Concentration effect.

Answer Options :

1) a, b and c 2) a, c and d 3) b, c and d 4) All of the above

CÎmao … 14) gmd©O{ZH$ IM©

1-3 2-4 3-4 4-1 5-2


